3 (Sem-5/CBCS) ECO HC 1

2021
( Held in 2022 )

ECONOMICS

Paper : ECO-HC-5016

( Indian Economy—I )

( Honours Core )

Full Marks : 80

Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answef the following questions : 1x10=10
oS Tl PP T fran
(a) What is demographic dividend?
Tl aene < 2
(b) Define absolute poverty.
o ke ket i |
(c) Give one example of social capital.
S oS o1 Trzae fl |
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(2)

(d) What is the objective of National Rural
Health Mission (NRHM)?

I8 o T s S [ 2

(e} Define gross enrolment rate.

3 olfrTeRe 7 Tl |

() In which year was NITI Aayog set up?
T 5SS A1 10 1 (22T ?

(g} Mention one drawback of Mahatma
Gandhi National Rural Employment
Guarantee Act or MGNREGA.

T ST B A s fRPveeI Sz
(MGNREGA)T «b1 &b fer |

(h) What is Aatmanirbhar Bharat?
ey o[ & 2

() Great Leap Forward Programme relates
to which country?
T SN AMCHAT S I (PR T
GRS 7

() Give one reason of improvement in
female literacy in India.
TRed TR TSl T @RE 9B IR
fort |
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(2)

(d) What is the objective of National Rural
Health Mission (NRHM)?

I8 A % R Sown B 2

(e} Define gross enrolment rate.

0 Siferereie 2R A fra |

() In which year was NITI Aayog set up?
I 57O S SIS 5o F1 C2eeT 2

(g9 Mention one drawback of Mahatma
Gandhi National Rural Employment
Guarantee Act or MGNREGA.

TR TR A A e JRiveeIa Sz
(MGNREGA)T 6! @fb fora |

(h) What is Aatmanirbhar Bharat?
e S % 2

() Great Leap Forward Programme relates
to which country?
TR SR AT SO @ (R ForS
TS ?

() Give one reason of improvement in
female literacy in India.
SRSy IREM IS A @EE @B TR
forat 1
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(3)

2. Answer the following questions : 2x5=10
wers fia erpRs e f

(@)

()

(c)

(@)

(e)

22A/268

What is human capital?
TE o 152

Write two recent features of India’s age
composition.

SRS SR PR i e @iE
woT fers

What is human development index?

TR G S 62

Give two factors which are responsible
for increase in the growth of savings in

India.

TREY TR T[ e SRS 91 01 IEE
ey 991

Mention two causes of gender inequality
in India.

e fel (IR 01 IR SeE

( Turn Over )



(4)

3. Answer any four questions from the
following : 5x4=20
T 2R RCRICAl BifRbE Teq faa

fa) Write briefly the features of Indian
economy at the time of independence.

FATON S SROH LT AFEPHE vyt
el 41 |

(b) Discuss the important reasons for
persistent poverty in India.

SHOY FHMS TG G| FEPHR SCO
eIl

(c) What are the major initiatives of the
government to strengthen India’s health
system?

SROY FF IRE A al FAT 9T 23
91 TemiapTR 5 6 2

(d) Write the major causes of malnutrition
in rural areas of India.
ST 21 S SRS I FRPTR

() Explain the major development
strategies of China.

BT I T CFPEPTR 39T 59 |
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(S)

() Mention some of the social measures for
solving the problem of population
explosion in India.

SRS GARCERD S W FRIcE o5
SIf&S J7eE Seay 41 |
4. Answer any four questions from the
following : 10x4=40
@ 2R Reeiet SRR e fie

(a) Explain the structural changes that
have occurred in India during the Plan
period.

AT FPRIR© ©ROS ol FRIHTS
ARG I 0 |

(b) Analyze the trend of saving and
investment of India after economic
reforms.

SR SdAeT ARRY e e ue
R afeymr I <1 |

(c) Explain the relationship between
population growth and economic
development in the light of India’s
planned experience.

PRl I A Sfee  Tmee W
SoRECET SIS ARTEAR A9 e 1R I
el
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(S

() Mention some of the social measures for
solving the problem of population
explosion in India.

SRS SARTER SR S SR R
A <% Sears 41 |
4. Answer any four questions from the
following : 10x4=40
o 2RPRY RcIeAT B e fir

(a) Explain the structural changes that
have occurred in India during the Plan
period.

ARIFAR IS OGS oI FOCAITO
ARRETTIR 1T 391 |

(b) Analyze the trend of saving and
investment of India after economic
reforms.

ooy wiAfer BRI PRe AW wE
RfFcmer sfSumEr 3 <41 |

(c) Explain the relationship between
population growth and economic
development in the light of India’s
planned experience.

PRyl g A ST WS WeR
STobCh] SRSA AARTEAN Fore WHfS M
41 |
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(6)

(d What is sustainable development?
Explain the environment friendly
policies that have been adopted by the
government to mitigate climate change.
T T 1 2 S RIS st feaeE
S TR 2 T ARG Sl SR
iSR!

(e) Explain the current state of primary
education in India.

meﬁﬁﬁwﬁﬂﬂw@aﬁIWt

() Discuss the different policies adopted by
the government of India to combat
poverty.
el A IR SO BRI AR T
RifSw SofrER S 41 |

(g Explain the causes of overall
unemployment  problem in India.
Mention some of the recent measures
taken by the government to create new
employment opportunities.

Sed PR TeTH RS FREFER el
<1 | FaEeE wgn A R IR 590
orze 991 T2fOF PR TCHY 91 |

22A/268 ( Continued )



(6)

(d What is sustainable development?
Explain the environment friendly
policies that have been adopted by the
government to mitigate climate change.

T Tag % 2 S AfRaeq e iR
SRS HIFI A T ARG g PR
0 39 |

(e) Explain the current state of primary
education in India.

ST AT PP ST SRR I F 1 |

() Discuss thé different policies adopted by
the government of India to combat

poverty.
TRel A FRAA SRS I =T
fRfSw SpfaeIyZ ST 41 |

(g9 Explain the causes of overall
unemployment problem in India.
Mention some of the recent measures
taken by the government to create new
employment opportunities.

SRSy @l STPIR TRET FRPHR I
79| AR T s R IR e
a1z 91 ST JAEPHR SCE 491 |
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(7)

(h) Give a comparative study of India,
China and Pakistan with respect to
demographic parameters and GDP

growth rate.

e pe OF T T S @l
@ﬁww,ﬁﬂwmﬁm«w@

WWW‘?@WI

* %k %
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3 (Sem-5/CBCS) ECO HC 2

2021
( Held in 2022 )

ECONOMICS
Paper : ECO-HC-5026

( Development Economics—I )
( Honours Core )

Full Marks : 80

Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following as directed : 1x10=10
weTo IR Mo e fia -

(a) Mention a measure of development to
study international variation.

THE SBAER RIS M99 I 9T 9
BT 53 a0 |
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3 (Sem-5/CBCS) ECO HC 2

2021
( Held in 2022 )

ECONOMICS

Paper : ECO-HC-5026

( Development Economics—I )
( Honours Core )

Full Marks : 80
Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following as directed : 1x10=10
weTe Ry et rRRt Tey fg «

(@) Mention a measure of development to
study international variation.

e SRR RIS W[ I3 I 90
BT 36 TTa 41 |
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(b)

()

(d)

22A/269

(2)

According to the UNDP Report, 2020,
India’s rank in HDI is '

UNDPF 0307 AfS@@wee, I@E F=oF Taae
< (HDI)T Sifere Ao T 24

(i) 129
3

(i) 130
9o

(ifj) 131
9%

(iv) None of the above
9T b8 T

( Choose the correct answer )

(o7 Teh A1fR Tieq )

What is endogeneous growth model?

Sre@ar Rerr =i [ 2

Why is the Harrod-Domar model called
a neutral theory of economic growth?

E-TIR ARG R wfns Rers
fAeers og 3 o =2

( Continued )



(2)

(b) According to the UNDP Report, 2020,
India’s rank in HDI is

UNDPT 0309 oo, TR o) Sage
o< (HDI)T SIferRre Sesq ¥ T'e

fi) 129
3

(i) 130
y9o

(i) 131
39

(iv) None of the above
5T OIS 7=

( Choose the correct answer )

(o= TeChr A1fR Tt )

(c) What is endogeneous growth model?
SRt Rert ot & 2

(d) Why is the Harrod-Domar model called
a neutral theory of economic growth?

@E-TAA WG 7y weitfs Reem
fAseers o7 I o =9

22A/269 ( Continued )



(3)
(¢) What is poverty line?
wfigorR eIl 2

() Is long-run growth possible in Solow
model?

R SRS T {erT F ?

(g) What is steady state in Solow model?
7o ke fRafie s (2

(h) What is inequality?
el 2

(i)’ What is the main function of a political

institution?
B AT SR 2w P 8 2
() What do you mean by democracy?
ey e 6 =2
2. Answer the following questions : 2x5=10
W 2PPTRRd T ford

(a) Write two limitations of GDP as a
measure of economic development.
wefafes Tagaa e fRod P TR TS
w1 SRSl B 791 |

22A /269 ( Turn Over )



(3)
{e) What is poverty line?
wierR AT f 2

() Is long-run growth possible in Solow
model?

5o of¥e T [P S ?

(g) What is steady state in Solow model?

v'eq wiEe e s7w 2

(h) What is inequality?
el 52

(i)  What is the main function of a political

institution?
B ST SepdIa g T 6 2
() What do you mean by democracy?
ooy et R @2
2. Answer the following questions : 2x5=10
weq 2PPTRA O fer

(@) Write two limitations of GDP as a
measure of economic development.
weftfes Trmed Mol fRoe o TRl SRATER
71 SRSl Beard 4 |
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(4)

(bp) What is Gini coefficient?
A =1=er 6 2

(c) Write two characteristics of the poor.

R 751 CaE S T

(d) Distinguish between growth and
development.

R S Sage <l for o

(e} What is poverty trap?
wREeR T fF 2

3. Answer any four of the following questions -
5x4=20
ol 2PPTRA R CRIe BB Teq forey -

(a) Write briefly the measures of
development.

Wmmw%n

(p) What is the basis of Solow’s growth
model?

oo [ e fofls 5 9
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(4)

(b) What is Gini coefficient?
faf =1 3 2

(c) Write two characteristics of the poor.

w{Req Y1 G381 Seas 4y |

(d) Distinguish between growth  and
development.

R w1 Teaq onefey oy |

fe) What is poverty trap?
ARGSR T 9

3. Answer any four of the following questions -
Sx4=20

OO PRI R e SRR Sag ey -

(@) Write briefly the measyres of
development.

Wmﬂ{quﬁm

(b)) What is the basis of Solow’s growth
model? :

b'e [P =T o f 9
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(5)

(c) Explain briefly the inequality axioms.

PN FRRER T o |

(d) Distinguish between absolute poverty
and relative poverty. )

PR WRTSl WF  weeifRe wRvem  wew
A1 o141 1

(e) How do poverty and inequality affect
development?

W@WW&W@WW'CW?

() Explain briefly the role of government to
eradicate corruption.

YIS RIS SRR BT B el < |

4. Answer the following questions : 10x4=40

O PR ©ed s

(a) Discuss the international variation
among different measures of develop-

ment.
T TP IS RSB oo RN
31

Tu
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(S)

(c) Explain briefly the inequality axioms.

SPTeR RPN 5Y0F o |

{d) Distinguish between absolute poverty
and relative poverty. :

PO TREOl WIF AR wWRyeR I
Ny ford |

(e) How do poverty and inequality affect
development?

WWWW@M%@EW?

( Explain briefly the role of government to
eradicate corruption.

TS fFRTAT® DI PRl D Ief1 < |

4. Answer the following questions : 10x4=40

woq 2T ©ed o

(a) Discuss the international variation
among different measures of develop-

ment.
T PP TES SYEAEA st
4 |
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(b)

(c)

22A/269

(6)

Or / SI%41

Explain briefly the development
trajectories across developing nations
and make a comparison between them.

T AR S STSYRE eI
T BYLF SR |

Explain briefly the Harrod-Domar model

of growth.

(ZS-G N9 R SR 5T =00 <41 |
Or / 91

Explain briefly the growth process of a
developing economy.

Srgale Yefes R aferdl 590 J¢fer 5 |

Explain the relationship between
inequality and development.

SOl S SR IS T R 64 |
Or / 91

“Rich are getting richer and poor are
getting poorer.” Discuss the statement.

4 TPTEeT 41 O RGN TR 02 0l e 1
Sfcor W 0 |

( Continued )



(7)

(d) Discuss briefly the determinants of
democracy.

ToZ] T T 7 |
ARPTR

Or / 9331

Discuss the differences in the
functioning of State institutions within.

a country.
94 (PR HIRl SFPEERT IRERAR
AR M ¥ |

%ok &
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